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Sample Paper – 2012
Class – XII
Subject –[image: image33.png]mathematics Test Paper

                                                    Time: 1 Hour                                                                   Max. Marks: 30

Topic Covered: Probability.                                     PAPER CODE: T-13A

General Instructions:


1.  All the questions are compulsory.

2.  This question paper contains 10 questions only.

Questions: 

       1.   Given P(A)[image: image2.png]


0[image: image4.png]


2, P(B)[image: image6.png]
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3 and P(A[image: image10.png]


B)[image: image12.png]


find P(A/ B) and P(B/A).                                                                        (1)

         2.    If A and B are two independent events , such that P(A[image: image14.png]


B)[image: image16.png]
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6 and  P(A)=0[image: image20.png]


2, find P(B).                                      (1)

          3.   A die is thrown 6 times. If ‘getting on odd number ’ is a success,  what is the probability 

                of at most  2 successes?                                                                                                                                                                 (1)

4.   Given two independent events A and B such that P(A)=0[image: image22.png]


3 and P(B) =0[image: image24.png]


6.Find P(A’[image: image26.png]


B’).                                     (1)

          5.   If each element of a second order determinant is either 0 or 1, what is the probability that 

                the value of determinant is positive ?                                                                                                                                        (2)

 6.  Two cards are drawn simultaneously (without replacement) from a well shuffled pack of 52 cards.

       Find the probability distribution of the number of aces. Also, find mean of the distribution.                                (4)

 7.  A family has 2 children. Find the probability that both are boys, if it is known that

                (i)  at least one of the children is a boy,    (ii)   the elder child is a boy,                                                                           (4)               

          8.  On a multiple choice examination with three possible answers (out of which only one is correct) 

                for each of the five questions, what is the probability that a candidate would get four or more 

                correct  answers just by guessing.                                                                                                                                             (4)

         9.   In a bolt factory, machines A, B and C manufacture 25%, 35% and 40% of the total production   

                respectively. Out of their total output  5%, 4% and 2% are defective bolts. A bolt is drawn from

                the total production and is found to be defective. What is the probability that it is manufactured 

                by the machine B?                                                                                                                                                                             (6)

      10.   An insurance company insured 2000 scooter drivers , 4000 car drivers and 6000 truck drivers.

               The probability of an accident involving a scooter, a car and a truck is 0[image: image28.png]


01, 0[image: image30.png]


03, and 0[image: image32.png]


15 respectively. 
               One of the insured person meets with an accident. What is the probability that he is a scooter  driver.              (6)
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